Efficiency vs dr

o
[od

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

Ratio
-
N

=

0.8

DQM_or _siep.

DQM_pixelCPETemplate_ste
DOM_pixelCPETemplateCutChiSqu
—— DQM_pixel CPETemplateCutChiSqu

1078 1072 107t

[ Efficiency vs dr (track,jet) |

eom

-newg
2_ttbar-phasel-newgeom

are5_step2_ttbar-phasel-newgeom
are5Test_sfep2_tthar-phasel-newgeom

1
TP min AR

EO.OS
.045
£
%0.04
9.035
>
20.03
Q
i15=6.025
3]
0.02
0.015
0.0
0.005

[y

0.2

107 1072

1
AR(TP, jét)

-1

............................................

............................................

....................

.

0.2

> .
O[T




	Contents
	Page 1


